Equation of the Chord joining two points on an Ellipse
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Let P(acos 0,bsind); Q(acos ¢,bsing)be any two points of the ellipse —-+ el =1.Then, the
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equation of the chord joining these two points is y —bsind = (x —acos )

Thus, the equation of the chord joining two points having eccentric angles 8 and ¢ on the
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Note: If the chord joining two points whose eccentric angles are a and £ cut the major axis of an ellipse
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at a distance ‘c’ from the center, then tan —tan — = .
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If ¢ and f be the eccentric angles of the extremities of a focal chord of an ellipse of eccentricity e, then
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